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void magic (int a [ ] [ ], int n)
{ int i,j,x,y; 
if (n% 2 = = 0)
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{
Printf (“As n is not odd. hence exiting”);
{
else
{
for (i = 1; i < = n; i ++) 
for (j = 1: j < = n; j ++) 
a [ i ] [ j ] = 0 ; /k initialise by 0*/
X = 1
y = (n + 1) /2 ; /* select first cell */
a [ x ] [ y ]  = 1;
for (i = 2; i < = (n * n) ; i ++)
{
if (x = = 1 & & y = = n) X ++; 
else if (x -  1 < 1)
{
X = n 
y + + ;
{
else if (a [ x-1 ] [ y + 1]! = 0) x ++: 
else 
{
X - - ;
y + + ;
{
a [ x ] [ y ]  = i;
{
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void magic (int a [ ] [ ], int n)

{
int i, j, temp;
for (i = 1; i < = n; i++)
forG = 1; j< = n;j++)
a [ i ] [ j ] = (i - 1 ) * n + j: / * array filling * /

for (i = 1; i < = n; i ++)

{
if (i = = 1 II i% 4 == 0 11 (i -1 ) %4 = = 0)

{
j = o;
while G < = a)
{
J ++;
a [ i ] [ j ] = -a  [ i ] [ j ];
1+ = 3;
a [ i ] [ j ]  = - a [ i ] [ j ] ;
}
}
else

{
j = 2;

while G < = n)

{
a [ i ] [ i ]  = - a [ i ] [ j ] ;

j++ :

a [ i ] [ ) ]  = - a [ i ] [ j ] ;  
j + = 3;

}
}
}
* cheak & swap */ 
for (i = 1: i < = n; i++) 
for G = I; i < = n; j++) 
if (a [ i ] [ j ] < 0)

(
temp = a [ i ] [ j ];
a [ i ] [ j ]  = a [ n  + l - i ] [ n  + 1 - j ]  
a [ n+1 - i ] [ n+1 -  j ] = temp; 
a [ i ] [ j ]  = - a [ i ] [ j ] ;
a [ n + 1 - i ] [ n  + 1 -  j] = - a  [ n+1 -  i ] [ n+1 -  j ]

}
}
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Education is a progressive discovery of our own ignorance

— Will Durant


